English

1.

By using an optional lock set: change one of the two
clamping bolts of the telescope system for an anti-theft bolt
(M6x10). Change two bolts of the ceiling head for two
anti-theft bolts (M6x20).

Remove the two bolts from the ball joint. Take of the ball

clamping ring from the tube. Use the ball and the ball

clamping ring for assembling the bracket part.

Put the ball through the ball clamping ring. Mount the

disc (1), stainless steel spacer (2), tripod (3) and the ball

joint by using two button socked head bolts (M6x30).

Mount the four arms to the disc (M6x10). Be sure on each

slot of the disc an arm is mounted.

Mount the projector to the arms*. Use the supplied

spacers, bolts and washers.

* 1. If the projector lens is on the left-hand side (A) or in
the centre (B) one of the legs of the tripod must be
pointing to the front of the projector

2. If the projector lens is on the right-hand side (C) one
of the legs of the tripod must be pointing to the back
of the projector.

Mount the universal tube system to the ceiling (see also

mounting instructions universal tube system).

Mount the projector to the tube system. Slide the housing

cover over the tripod. Mount de cover to the tripod by using

three bolts (M6x10). When the projector lens is on the
right-hand side (see step 5) the front plate of the cover
must be at the back of the projector (in this setting the
projector projects through the back of the housing
construction).

Place the two side lips of the housing from below through

the housing cover. Slide the housing, with it's back lip and

two side lips, over the housing cover. Mount the housing
cover with a bolt (M6x16) and a washer. The projector
housing is now secured from falling down.

To lock the housing and tube system, an optional lock set

is required. The housing can be locked with two discus

locks. The ball joint can be locked with the padlock.

J

SmartMetals Mounting Solutions B.V. ¢ Handelsweg 4 ¢ 4231 EZ Meerkerk eThe Netherlands e
T +31(0)183-352942 « F +31(0)183-352909 e E info@SmartMetals.eu ¢ W www.SmartMetals.eu

Cmart
—_metals

MOUNTING SOLUTIONS



